Success in Seven Answers — Wednesday, Week 3

Week 3 — Day 3 1) 0.08+0.7+6=6.78
+07+6=6.78 We know that something p|L.JS 0.7 and 6 is 6.78. The place value chart
—2077 231= can help. What do we need in or:ier to m"ake“6.7“8?
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Are you getting good at these ones now? 32O 7|7 ]3]
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3) 400 x 50 = 20,000 0 s|1]5]5
Use your known fact of 4 x 5 = 20. of (|26
400 is one hundred times bigger than 4. AN I
50 is ten times bigger than 5.
100 x 10 = 1,000. This means our answer must be one thousand times bigger:
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Here you are being asked for 8 lots of 7/8. ] q f<: :>
Did you remember the procedure? - l : Q, E z ; :
56 and 8 are both divisible by 7. 7/1 =7 é|s L W
Remember — it’s okay to use visuals if you need them ©. AN 20 c &2 NP
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5) 12+3x2=18

BIDMAS/BODMAS which means we need to solve the question in the correct order. Multiplication
is higher on the scale than addition. Therefore, we need to do 3 x 2 first and add the answer to 12

i.,e.3x2=6 6+12=18

6) 7+100=0.07
7 is becoming one hundred times smaller. The digit will move

two places to the right.

This should have been answered using mental methods only.

7) 90% x 3500 = 3,150
Find 10% first by doing 3500 + 10 = 350 and then do one of two things:
1. 100% - 10% = 90% = 3500 — 350 = 3,150
2. 10%x9=90%=350x9 = 3,150
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